1. The product of two consecutive integers is 110. Find the integers.
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2. The product of two consecutive, positive odd integers is 143. Find the
integers.
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3. Find two consecutive integers such that the sum of their squares is 421. Find

the integers. . s

= N2 ; - 5 N

"‘\5) “\‘\ X 7y (7\ —‘r\> = A2\ ) x4 ; /(\Ba o 7;\\ l/({
3 - NS Z»O 9

- PR OV, I 4&7/0 San Sk A

A X=X 1S -4 (5

X Th Ly — 420+
4. Find three consecutive integers such that the product of the first integer and

the second integer is 42. Find the integers. v -\
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5. Find three positive consecutive mtegers such that the product of the first and
second is 2 Tmorethan 9 times the third. =20
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6. Find two consecutive positive integers such that the square of the first
decreased by 25 equals three times the second.
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